t3_bvfuncll (TMd-
sNfvGw3wMS8WMT4JSJyTd8zvxfRrdnEsr)

October 27, 2020

Let vl_zboole 0 : =0 be given. Let ml_subset_1 : t=>t=-0 be given. Let
ml_eqrel_1 : t=1=>0 be given. Let rl_tarski : t==1=-0 be given. Let k15_bv func_1 :
t=>1=1=>1 be given. Let k2_partitl : :=1=>1=-1 be given. Let rl_setfam_1 :
t=>1=0 be given. Assume the following.

VX0.(—vl_zboole.0 X0)=(VX1.(ml_subset-1 X1 X0)=
(VX2.(mlegrel.l X2 X0)=(VX3.(mlegrel.l X3 X0)=
((rl_setfam-1 X2 X3)=(rl_tarski (k15-bvfunc_l X0 X1 X2) (k15-bv func_1
X0 X1 X3))))))

(1)

Assume the following.

VX0.(—vl_zboole 0 X0)=(VX1.(ml_egrel.l X1 X0)=
(VX2.(mlegrel.l X2 X0)=(rl_setfam_1 (k2_partitl X0 X1 (2)
X2) X1)))

Assume the following.

VX0.VX1.VX2.((—vl_zboole_ 0 X0)A((ml_egrel_l
X1 X0)A(mlegrel.l X2 X0)))=(ml_eqrel_l (k2_partitl X0 X1 X2) X0)

(3)
Theorem 1

VX0.(—vl_xboole 0 X0)=(VX1.(ml_subset_ 1 X1 X0)=
(VX2.(ml_eqrel.1 X2 X0)=(VX3.(ml_egrel.1 X3 X0)=
(rltarski (k15-bv func-l X0 X1 (k2_partitl X0 X2 X3)) (k15-bvfunc_1
X0 X1 X2)))))



